

THE RESOLVENT OF IMPULSIVE SINGULAR HAHN–STURM–LIOUVILLE OPERATORS

BILENDER P. ALLAHVERDIEV, HÜSEYİN TUNA , HAMLET A. ISAYEV

Abstract. In this study, the resolvent of the impulsive singular Hahn–Sturm–Liouville operator is considered. An integral representation for the resolvent of this operator is obtained.

1. Introduction

Impulsive differential equations are one of the interesting topics in the theory of differential equations. These equations serve as basic models to study the dynamics of processes that are subject to sudden changes in their states. These types of problems are especially encountered in heat and mass transfer problems ([17]). There are many studies on this subject in the literature [2, 6, 7, 8, 9, 12, 13, 14, 19, 23].

W. Hahn introduced the concept of the Hahn derivative to the literature in 1949 [10]. With this definition he made, he gathered two important operators under a single structure. These are the q -difference and forward difference operators. In 2018, Annaby et al. [4] using this definition instead of the classical derivative, investigated the fundamental properties of the Sturm–Liouville problems. In [5], the authors studied singular q -Sturm–Liouville equations.

Received: 05.10.2023. Accepted: 03.01.2024. Published online: 18.01.2024.

(2020) Mathematics Subject Classification: 39A13, 34A37, 47A10.

Key words and phrases: Hahn difference equations, difference equations with impulses, spectral function, resolvent operator.

©2024 The Author(s).

This is an Open Access article distributed under the terms of the Creative Commons Attribution License CC BY (<http://creativecommons.org/licenses/by/4.0/>).

In [18], the author studied a q -analog of the singular Dirac problem. Recently in [21], the author proved a spectral expansion theorem by constructing the spectral function of the Hahn–Sturm–Liouville equation in the singular case under impulsive conditions.

In this paper, our aim is to consider Hahn–Sturm–Liouville problems under impulsive boundary conditions. The integral representation of the resolvent operator corresponding to this type of problem will be obtained using Weyl’s method [16, 22, 24].

2. Preliminaries

Now, we provide a concise overview of the Hahn calculus [3, 4, 10, 11]. Let $q \in (0, 1)$, $\omega_0 := \omega / (1 - q)$, $\omega > 0$, and let $\Psi : J \subset \mathbb{R} \rightarrow \mathbb{R}$ be a function such that $\omega_0 \in J$.

DEFINITION 2.1 ([10], [11]). The *Hahn derivative* $D_{\omega, q}\Psi$ is defined by

$$D_{\omega, q}\Psi(\zeta) = \begin{cases} \frac{\Psi(\omega + q\zeta) - \Psi(\zeta)}{\omega + (q-1)\zeta}, & \zeta \neq \omega_0, \\ \Psi'(\omega_0), & \zeta = \omega_0, \end{cases}$$

where the expression $\Psi'(\omega_0)$ shows the ordinary derivative of Ψ at ω_0 .

DEFINITION 2.2 ([3]). Let $a, b, \omega_0 \in J$. The *Hahn integral* (ω, q -integral) is defined by

$$\int_a^b \Psi(\zeta) d_{\omega, q}\zeta := \int_{\omega_0}^b \Psi(\zeta) d_{\omega, q}\zeta - \int_{\omega_0}^a \Psi(\zeta) d_{\omega, q}\zeta,$$

where

$$\int_{\omega_0}^{\zeta} \Psi(t) d_{\omega, q}t := ((1 - q)\zeta - \omega) \sum_{n=0}^{\infty} q^n \Psi\left(\omega \frac{1 - q^n}{1 - q} + \zeta q^n\right), \quad \zeta \in J,$$

provided that the series converges at $\zeta = a$ and $\zeta = b$.

DEFINITION 2.3. The ω, q -Wronskian of Ψ_1 and Ψ_2 is defined by

$$W_{\omega, q}(\Psi_1, \Psi_2) := \Psi_1 D_{\omega, q}\Psi_2 - \Psi_2 D_{\omega, q}\Psi_1.$$

3. Main results

Let us consider the following impulsive boundary-value problem (BVP)

$$(3.1) \quad -\frac{1}{q}D_{-\frac{\omega}{q}, \frac{1}{q}}D_{\omega, q}y(\zeta) + v(\zeta)y(\zeta) = \lambda y(\zeta), \quad \zeta \in (\omega_0, d) \cup (d, \frac{1}{q^n}),$$

$$(3.2) \quad y(\omega_0, \lambda) \cos \beta + D_{-\frac{\omega}{q}, \frac{1}{q}}y(\omega_0, \lambda) \sin \beta = 0,$$

$$(3.3) \quad y(d-) = \eta y(d+),$$

$$(3.4) \quad D_{-\frac{\omega}{q}, \frac{1}{q}}y(d-) = \frac{1}{\eta}D_{-\frac{\omega}{q}, \frac{1}{q}}y(d+),$$

$$(3.5) \quad y(\frac{1}{q^n}, \lambda) \cos \gamma + D_{-\frac{\omega}{q}, \frac{1}{q}}y(\frac{1}{q^n}, \lambda) \sin \gamma = 0,$$

where $q \in (0, 1)$, $\omega_0 := \omega / (1 - q)$, $\omega > 0$, $\gamma, \beta \in \mathbb{R}$, $\frac{1}{q^n} > d$, $n \in \mathbb{N} := \{1, 2, 3, \dots\}$, $\eta > 0$, $\lambda \in \mathbb{C}$, $y(d\pm) := \lim_{\zeta \rightarrow d\pm} y(\zeta)$, v is a real-valued continuous function on $[\omega_0, d) \cup (d, \infty)$, and has finite limits $v(d\pm)$.

A similar problem has been studied by the authors without impulsive boundary conditions ([1]).

$H_n = L_{\omega, q}^2(\omega_0, d) \dot{+} L_{\omega, q}^2(d, \frac{1}{q^n})$, $\frac{1}{q^n} > d$, $n \in \mathbb{N}$ ($H = L_{\omega, q}^2(\omega_0, d) \dot{+} L_{\omega, q}^2(d, \infty)$) is a Hilbert space endowed with the following inner product

$$\langle y, z \rangle_n := \int_{\omega_0}^d y^{(1)} \overline{z^{(1)}} d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} y^{(2)} \overline{z^{(2)}} d_{\omega, q} \zeta,$$

$$(\langle y, z \rangle := \int_{\omega_0}^d y^{(1)} \overline{z^{(1)}} d_{\omega, q} \zeta + \int_d^{\infty} y^{(2)} \overline{z^{(2)}} d_{\omega, q} \zeta),$$

where

$$y(\zeta) = \begin{cases} y^{(1)}(\zeta), & \zeta \in [\omega_0, d), \\ y^{(2)}(\zeta), & \zeta \in (d, \infty), \end{cases}$$

and

$$z(\zeta) = \begin{cases} z^{(1)}(\zeta), & \zeta \in [\omega_0, d), \\ z^{(2)}(\zeta), & \zeta \in (d, \infty). \end{cases}$$

Let

$$\psi(\zeta, \lambda) = \begin{cases} \psi^{(1)}(\zeta, \lambda), & \zeta \in [\omega_0, d), \\ \psi^{(2)}(\zeta, \lambda), & \zeta \in (d, \infty), \end{cases}$$

and

$$\theta(\zeta, \lambda) = \begin{cases} \theta^{(1)}(\zeta, \lambda), & \zeta \in [\omega_0, d), \\ \theta^{(2)}(\zeta, \lambda), & \zeta \in (d, \infty), \end{cases}$$

be solutions of Eq. (3.1) satisfying the following conditions

$$\begin{aligned} \psi^{(1)}(\omega_0, \lambda) &= \cos \beta, & D_{-\frac{\omega}{q}, \frac{1}{q}} \psi^{(1)}(\omega_0, \lambda) &= \sin \beta, \\ \theta^{(1)}(\omega_0, \lambda) &= \sin \beta, & D_{-\frac{\omega}{q}, \frac{1}{q}} \theta^{(1)}(\omega_0, \lambda) &= -\cos \beta, \end{aligned}$$

and

$$\begin{aligned} \theta(d-, \lambda) &= \eta \theta(d+, \lambda), \\ D_{-\frac{\omega}{q}, \frac{1}{q}} \theta(d-, \lambda) &= \frac{1}{\eta} D_{-\frac{\omega}{q}, \frac{1}{q}} \theta(d+, \lambda), \\ \psi(d-, \lambda) &= \eta \psi(d+, \lambda), \\ D_{-\frac{\omega}{q}, \frac{1}{q}} \psi(d-, \lambda) &= \frac{1}{\eta} D_{-\frac{\omega}{q}, \frac{1}{q}} \psi(d+, \lambda). \end{aligned}$$

Then the solution of Eq. (3.1) be represented

$$\psi(\zeta, \lambda) + \ell \left(\lambda, \frac{1}{q^n} \right) \theta(\zeta, \lambda)$$

which satisfies the boundary condition

$$\begin{aligned} \left(D_{-\frac{\omega}{q}, \frac{1}{q}} \psi^{(2)} \left(\frac{1}{q^n}, \lambda \right) + \ell \left(\lambda, \frac{1}{q^n} \right) D_{-\frac{\omega}{q}, \frac{1}{q}} \theta^{(2)} \left(\frac{1}{q^n}, \lambda \right) \right) \sin \gamma \\ + \left(\psi^{(2)} \left(\frac{1}{q^n}, \lambda \right) + \ell \left(\lambda, \frac{1}{q^n} \right) \theta^{(2)} \left(\frac{1}{q^n}, \lambda \right) \right) \cos \gamma = 0. \end{aligned}$$

Hence

$$\ell \left(\lambda, \frac{1}{q^n} \right) = - \frac{\psi^{(2)} \left(\frac{1}{q^n}, \lambda \right) \cot \gamma + D_{-\frac{\omega}{q}, \frac{1}{q}} \psi^{(2)} \left(\frac{1}{q^n}, \lambda \right)}{\theta^{(2)} \left(\frac{1}{q^n}, \lambda \right) \cot \gamma + D_{-\frac{\omega}{q}, \frac{1}{q}} \theta^{(2)} \left(\frac{1}{q^n}, \lambda \right)}.$$

LEMMA 3.1. *Let*

$$Z_{\frac{1}{q^n}}(\zeta, \lambda) = \psi(\zeta, \lambda) + \ell\left(\lambda, \frac{1}{q^n}\right)\theta(\zeta, \lambda),$$

where $Z_{\frac{1}{q^n}} \in H_n$ and $\frac{1}{q^n} > d$, $n \in \mathbb{N}$. Then, for each nonreal λ , the following relations hold:

$$\begin{aligned} Z_{\frac{1}{q^n}}(\zeta, \lambda) &\rightarrow Z(\zeta, \lambda), \quad n \rightarrow \infty, \\ \int_{\omega_0}^d \left| Z_{\frac{1}{q^n}}(\zeta, \lambda) \right|^2 d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} \left| Z_{\frac{1}{q^n}}(\zeta, \lambda) \right|^2 d_{\omega, q} \zeta \\ &\rightarrow \int_{\omega_0}^d |Z(\zeta, \lambda)|^2 d_{\omega, q} \zeta + \int_d^{\infty} |Z(\zeta, \lambda)|^2 d_{\omega, q} \zeta, \quad n \rightarrow \infty. \end{aligned}$$

PROOF. It is immediate that

$$Z_{\frac{1}{q^n}}(\zeta, \lambda) = Z(\zeta, \lambda) + \left[\ell\left(\lambda, \frac{1}{q^n}\right) - m(\lambda) \right] \theta(\zeta, \lambda)$$

where $Z(\cdot, \lambda) \in H$ and $m(\lambda)$ is the Titchmarsh–Weyl function. $\ell(\lambda, \frac{1}{q^n})$ varies on a circle with a finite radius $r_{\frac{1}{q^n}}$ in the plane. In the limit-circle case, $\ell(\lambda, \frac{1}{q^n}) \rightarrow m(\lambda)$ ($n \rightarrow \infty$); therefore

$$Z_{\frac{1}{q^n}}(\zeta, \lambda) \rightarrow Z(\zeta, \lambda) \quad (n \rightarrow \infty).$$

Hence

$$\begin{aligned} \int_{\omega_0}^d \left| Z_{\frac{1}{q^n}}^{(1)}(\zeta, \lambda) \right|^2 d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} \left| Z_{\frac{1}{q^n}}^{(2)}(\zeta, \lambda) \right|^2 d_{\omega, q} \zeta \\ \rightarrow \int_{\omega_0}^d \left| Z^{(1)}(\zeta, \lambda) \right|^2 d_{\omega, q} \zeta + \int_d^{\infty} \left| Z^{(2)}(\zeta, \lambda) \right|^2 d_{\omega, q} \zeta \quad (n \rightarrow \infty), \end{aligned}$$

due to $Z(\cdot, \lambda) \in H$. In the limit-point case, we find

$$\begin{aligned} \left| \ell\left(\lambda, \frac{1}{q^n}\right) - m(\lambda) \right| &\leq r_{\frac{1}{q^n}} \\ &= \left(2 \operatorname{Im} \lambda \left[\int_{\omega_0}^d |\theta^{(1)}(\zeta, \lambda)|^2 d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} |\theta^{(2)}(\zeta, \lambda)|^2 d_{\omega, q} \zeta \right] \right)^{-1}, \end{aligned}$$

where $\text{Im } \lambda \neq 0$. As $r_{\frac{1}{q^n}} \rightarrow 0$, $Z_{\frac{1}{q^n}}(\zeta, \lambda) \rightarrow Z(\zeta, \lambda)$ ($n \rightarrow \infty$). Moreover, we have

$$\begin{aligned} & \int_{\omega_0}^d \left| \left\{ \ell\left(\lambda, \frac{1}{q^n}\right) - m(\lambda) \right\} \theta^{(1)}(\zeta, \lambda) \right|^2 d_{\omega, q} \zeta \\ & \quad + \int_d^{\frac{1}{q^n}} \left| \left\{ \ell\left(\lambda, \frac{1}{q^n}\right) - m(\lambda) \right\} \theta^{(2)}(\zeta, \lambda) \right|^2 d_{\omega, q} \zeta \\ & = \left| \ell\left(\lambda, \frac{1}{q^n}\right) - m(\lambda) \right|^2 \left(\int_{\omega_0}^d |\theta^{(1)}(\zeta, \lambda)|^2 d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} |\theta^{(2)}(\zeta, \lambda)|^2 d_{\omega, q} \zeta \right) \\ & \leq \left(4(\text{Im } \lambda)^2 \left[\int_{\omega_0}^d |\theta^{(1)}(\zeta, \lambda)|^2 d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} |\theta^{(2)}(\zeta, \lambda)|^2 d_{\omega, q} \zeta \right] \right)^{-1}, \end{aligned}$$

which implies that

$$\begin{aligned} & \int_{\omega_0}^d \left| Z_{\frac{1}{q^n}}^{(1)}(\zeta, \lambda) \right|^2 d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} \left| Z_{\frac{1}{q^n}}^{(2)}(\zeta, \lambda) \right|^2 d_{\omega, q} \zeta \\ & \quad \rightarrow \int_{\omega_0}^d \left| Z^{(1)}(\zeta, \lambda) \right|^2 d_{\omega, q} \zeta + \int_d^{\infty} \left| Z^{(2)}(\zeta, \lambda) \right|^2 d_{\omega, q} \zeta. \quad \square \end{aligned}$$

Let $f \in H_n$ ($\frac{1}{q^n} > d$, $n \in \mathbb{N}$). Define

$$\begin{aligned} (3.6) \quad G_{\frac{1}{q^n}}(\zeta, \varsigma, \lambda) &= \begin{cases} Z_{\frac{1}{q^n}}(\zeta, \lambda) \theta(\zeta, \lambda), & \varsigma \leq \zeta, \\ \theta(\zeta, \lambda) Z_{\frac{1}{q^n}}(\varsigma, \lambda), & \varsigma > \zeta, \end{cases} \\ (R_{\frac{1}{q^n}} f)(\zeta, \lambda) &= \int_{\omega_0}^d G_{\frac{1}{q^n}}(\zeta, \varsigma, \lambda) f^{(1)}(\varsigma) d_{\omega, q} \zeta \\ & \quad + \int_d^{\frac{1}{q^n}} G_{\frac{1}{q^n}}(\zeta, \varsigma, \lambda) f^{(2)}(\varsigma) d_{\omega, q} \zeta, \quad \lambda \in \mathbb{C}. \end{aligned}$$

Without loss of generality, we can assume that $\lambda = 0$ is not an eigenvalue of the BVP (3.1)–(3.5). Now let us prove that the resolvent operator is compact.

THEOREM 3.2. $G_{\frac{1}{q^n}}(\zeta, \varsigma)$ ($\lambda = 0$) ($\frac{1}{q^n} > d$, $n \in \mathbb{N}$) defined as (3.6) is a ω, q -Hilbert–Schmidt kernel, i.e.,

$$\int_{\omega_0}^d \int_{\omega_0}^d |G_{\frac{1}{q^n}}(\zeta, \varsigma)|^2 d_{\omega, q} \zeta d_{\omega, q} \varsigma < +\infty,$$

$$\int_d^{\frac{1}{q^n}} \int_d^{\frac{1}{q^n}} |G_{\frac{1}{q^n}}(\zeta, \varsigma)|^2 d_{\omega, q} \zeta d_{\omega, q} \varsigma < +\infty.$$

PROOF. By (3.6), it is obvious that

$$\int_{\omega_0}^d d_{\omega, q} \zeta \int_{\omega_0}^d |G_{\frac{1}{q^n}}(\zeta, \varsigma)|^2 d_{\omega, q} \varsigma < +\infty,$$

$$\int_d^{\frac{1}{q^n}} d_{\omega, q} \zeta \int_d^{\frac{1}{q^n}} |G_{\frac{1}{q^n}}(\zeta, \varsigma)|^2 d_{\omega, q} \varsigma < +\infty,$$

due to $Z_{\frac{1}{q^n}}(\cdot, \lambda), \theta(\cdot, \lambda) \in H_n$ ($\frac{1}{q^n} > d$, $n \in \mathbb{N}$). Hence

$$\int_{\omega_0}^d \int_{\omega_0}^d |G_{\frac{1}{q^n}}(\zeta, \varsigma)|^2 d_{\omega, q} \zeta d_{\omega, q} \varsigma < +\infty,$$

$$(3.7) \quad \int_d^{\frac{1}{q^n}} \int_d^{\frac{1}{q^n}} |G_{\frac{1}{q^n}}(\zeta, \varsigma)|^2 d_{\omega, q} \zeta d_{\omega, q} \varsigma < +\infty. \quad \square$$

THEOREM 3.3 ([20]). Let $A\{t_i\} = \{x_i\}$, $i \in \mathbb{N}$, where

$$(3.8) \quad x_i = \sum_{k=1}^{\infty} \eta_{ik} t_k, \quad i, k \in \mathbb{N}.$$

If

$$(3.9) \quad \sum_{i, k=1}^{\infty} |\eta_{ik}|^2 < +\infty,$$

then the operator A is compact in l^2 .

THEOREM 3.4. Let \mathcal{T} be the ω, q -integral operator $\mathcal{T}: H_n \rightarrow H_n$ ($\frac{1}{q^n} > d$, $n \in \mathbb{N}$),

$$(\mathcal{T}f)(\zeta) = \begin{cases} \int_{\omega_0}^d G_{\frac{1}{q^n}}(\zeta, \varsigma) f^{(1)}(\varsigma) d_{\omega, q} \varsigma, & \zeta \in [\omega_0, d), \\ \int_d^{\frac{1}{q^n}} G_{\frac{1}{q^n}}(\zeta, \varsigma) f^{(2)}(\varsigma) d_{\omega, q} \varsigma, & \zeta \in (d, \frac{1}{q^n}], \end{cases}$$

where

$$f(\zeta) = \begin{cases} f^{(1)}(\zeta), & \zeta \in [\omega_0, d), \\ f^{(2)}(\zeta), & \zeta \in (d, \frac{1}{q^n}]. \end{cases}$$

Then \mathcal{T} is a compact self-adjoint operator in space H_n .

PROOF. Let

$$\phi_i := \phi_i(\zeta) = \begin{cases} \phi_i^{(1)}(\zeta), & \zeta \in [\omega_0, d), \\ \phi_i^{(2)}(\zeta), & \zeta \in (d, \frac{1}{q^n}], \end{cases} \quad (i, n \in \mathbb{N}, \frac{1}{q^n} > d)$$

be a complete, orthonormal basis of H_n . Let $i, k, n \in \mathbb{N}$, $\frac{1}{q^n} > d$. Write

$$\begin{aligned} t_i &= \langle f, \phi_i \rangle_n = \int_{\omega_0}^d f^{(1)}(\zeta) \overline{\phi_i^{(1)}(\zeta)} d_{\omega, q} \zeta \\ &\quad + \int_d^{\frac{1}{q^n}} f^{(2)}(\zeta) \overline{\phi_i^{(2)}(\zeta)} d_{\omega, q} \zeta, \\ x_i &= \langle g, \phi_i \rangle_n = \int_{\omega_0}^d g^{(1)}(\zeta) \overline{\phi_i^{(1)}(\zeta)} d_{\omega, q} \zeta \\ &\quad + \int_d^{\frac{1}{q^n}} g^{(2)}(\zeta) \overline{\phi_i^{(2)}(\zeta)} d_{\omega, q} \zeta, \\ \eta_{ik} &= \int_{\omega_0}^d \int_{\omega_0}^d G_{\frac{1}{q^n}}(\zeta, \varsigma) \phi_i^{(1)}(\zeta) \overline{\phi_k^{(1)}(\varsigma)} d_{\omega, q} \zeta d_{\omega, q} \varsigma \\ &\quad + \int_d^{\frac{1}{q^n}} \int_d^{\frac{1}{q^n}} G_{\frac{1}{q^n}}(\zeta, \varsigma) \phi_i^{(2)}(\zeta) \overline{\phi_k^{(2)}(\varsigma)} d_{\omega, q} \zeta d_{\omega, q} \varsigma. \end{aligned}$$

H_n is mapped isometrically on to l^2 . By this mapping, \mathcal{T} transforms into the operator A defined by (3.8) in l^2 and (3.7) is translated into (3.9). By Theorems 3.2 and 3.3, we see that A and \mathcal{T} are compact operators.

Let $h, g \in H_n$ and $\frac{1}{q^n} > d$, $n \in \mathbb{N}$. Then we have

$$\begin{aligned}
\langle \mathcal{T}h, g \rangle_n &= \int_{\omega_0}^d (\mathcal{T}h^{(1)})(\zeta) \overline{g^{(1)}(\zeta)} d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} (\mathcal{T}h^{(2)})(\zeta) \overline{g^{(2)}(\zeta)} d_{\omega, q} \zeta \\
&= \int_{\omega_0}^d \int_{\omega_0}^d G_{\frac{1}{q^n}}(\zeta, \varsigma) h^{(1)}(\varsigma) d_{\omega, q} \varsigma \overline{g^{(1)}(\zeta)} d_{\omega, q} \zeta \\
&\quad + \int_d^{\frac{1}{q^n}} \int_d^{\frac{1}{q^n}} G_{\frac{1}{q^n}}(\zeta, \varsigma) h^{(2)}(\varsigma) d_{\omega, q} \varsigma \overline{g^{(2)}(\zeta)} d_{\omega, q} \zeta \\
&= \int_{\omega_0}^d h^{(1)}(\varsigma) \left(\int_{\omega_0}^d G_{\frac{1}{q^n}}(\varsigma, \zeta) \overline{g^{(1)}(\zeta)} d_{\omega, q} \zeta \right) d_{\omega, q} \varsigma \\
&\quad + \int_d^{\frac{1}{q^n}} h^{(2)}(\varsigma) \left(\int_d^{\frac{1}{q^n}} G_{\frac{1}{q^n}}(\varsigma, \zeta) \overline{g^{(2)}(\zeta)} d_{\omega, q} \zeta \right) d_{\omega, q} \varsigma \\
&= \langle h, \mathcal{T}g \rangle_n,
\end{aligned}$$

since $G_{\frac{1}{q^n}}(\zeta, \gamma)$ is a symmetric function. \square

From Theorem 3.4, we conclude that \mathcal{T} has a discrete spectrum. Let $\lambda_{m, \frac{1}{q^n}}$ and

$$\theta_{m, \frac{1}{q^n}}(\zeta) := \begin{cases} \theta_{m, \frac{1}{q^n}}^{(1)}(\zeta, \lambda_{m, \frac{1}{q^n}}), & \zeta \in [\omega_0, d), \\ \theta_{m, \frac{1}{q^n}}^{(2)}(\zeta, \lambda_{m, \frac{1}{q^n}}), & \zeta \in (d, \frac{1}{q^n}], \end{cases} \quad (m, n \in \mathbb{N}, \frac{1}{q^n} > d)$$

be the eigenvalues and eigenfunctions of the BVP (3.1)–(3.5) and

$$\alpha_{m, \frac{1}{q^n}}^2 = \int_{\omega_0}^d \theta_{m, \frac{1}{q^n}}^{(1)2}(\zeta) d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} \theta_{m, \frac{1}{q^n}}^{(2)2}(\zeta) d_{\omega, q} \zeta.$$

By Theorem 3.4 and the Hilbert–Schmidt theorem, we infer that

$$\begin{aligned}
(3.10) \quad & \int_{\omega_0}^d |f^{(1)}(\zeta)|^2 d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} |f^{(2)}(\zeta)|^2 d_{\omega, q} \zeta \\
&= \sum_{m=1}^{\infty} \frac{1}{\alpha_{m, \frac{1}{q^n}}^2} \left| \int_{\omega_0}^d f^{(1)}(\zeta) \varphi_{m, \frac{1}{q^n}}^{(1)}(\zeta) d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} f^{(2)}(\zeta) \varphi_{m, \frac{1}{q^n}}^{(2)}(\zeta) d_{\omega, q} \zeta \right|^2.
\end{aligned}$$

Define

$$\varrho_{\frac{1}{q^n}}(\lambda) = \begin{cases} - \sum_{\lambda < \lambda_{m, \frac{1}{q^n}} < 0} \frac{1}{\alpha^2_{m, \frac{1}{q^n}}}, & \text{for } \lambda \leq 0, \\ \sum_{0 \leq \lambda_{m, \frac{1}{q^n}} < \lambda} \frac{1}{\alpha^2_{m, \frac{1}{q^n}}}, & \text{for } \lambda > 0. \end{cases}$$

Then, (3.10) can be written as

$$(3.11) \quad \int_{\omega_0}^d |f^{(1)}(\zeta)|^2 d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} |f^{(2)}(\zeta)|^2 d_{\omega, q} \zeta = \int_{-\infty}^{\infty} |F(\lambda)|^2 d\varrho_{\frac{1}{q^n}}(\lambda),$$

where

$$F(\lambda) = \int_{\omega_0}^d f^{(1)}(\zeta) \varphi_{m, \frac{1}{q^n}}^{(1)}(\zeta) d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} f^{(2)}(\zeta) \varphi_{m, \frac{1}{q^n}}^{(2)}(\zeta) d_{\omega, q} \zeta.$$

LEMMA 3.5. *For any positive S , there is a positive number $B = B(S)$ not depending on n so that*

$$\bigvee_{-S}^S \varrho_{\frac{1}{q^n}}(\lambda) = \sum_{-S \leq \lambda_{m, \frac{1}{q^n}} < S} \frac{1}{\alpha^2_{m, \frac{1}{q^n}}} = \varrho_{\frac{1}{q^n}}(S) - \varrho_{\frac{1}{q^n}}(-S) < B.$$

PROOF. Let $\sin \beta \neq 0$. Since $\theta(\zeta, \lambda)$ is continuous in domain $-S \leq \lambda \leq S$, $[\omega_0, d) \cup (d, \frac{1}{q^n}]$, and the condition $\theta^{(1)}(\omega_0, \lambda) = \sin \beta$, there exists a positive number h such that for $|\lambda| < S$,

$$(3.12) \quad \frac{1}{h^2} \left(\int_{\omega_0}^{\omega_0+h} \theta^{(1)}(\zeta, \lambda) d_{\omega, q} \zeta \right)^2 > \frac{1}{2} \sin^2 \beta.$$

Let

$$f_h(\zeta) = \begin{cases} \frac{1}{h}, & \omega_0 \leq \zeta \leq \omega_0 + h, \\ 0, & \zeta > \omega_0 + h. \end{cases}$$

From (3.12), we find

$$\int_{\omega_0}^{\omega_0+h} f_h^2(\zeta) d_{\omega, q} \zeta = \frac{1}{h} = \int_{-\infty}^{\infty} \left(\frac{1}{h} \int_{\omega_0}^{\omega_0+h} \theta^{(1)}(\zeta, \lambda) d_{\omega, q} \zeta \right)^2 d\varrho_{\frac{1}{q^n}}(\lambda)$$

$$\begin{aligned}
&\geq \int_{-S}^S \left(\frac{1}{h} \int_{\omega_0}^{\omega_0+h} \theta^{(1)}(\zeta, \lambda) d_{\omega, q} \zeta \right)^2 d\rho_\alpha(\lambda) \\
&> \frac{1}{2} \sin^2 \beta \left\{ \varrho_{\frac{1}{q^n}}(S) - \varrho_{\frac{1}{q^n}}(-S) \right\}.
\end{aligned}$$

If $\sin \beta = 0$, then we define $f_h(\zeta)$ as

$$f_h(\zeta) = \begin{cases} \frac{1}{h^2}, & \omega_0 \leq \zeta \leq \omega_0 + h, \\ 0, & \zeta > \omega_0 + h. \end{cases}$$

This proves the lemma. \square

Now, we will give an expansion into a Fourier series of resolvent. By ω, q -integration by parts, we obtain

$$\begin{aligned}
&\int_{\omega_0}^d \left[\frac{1}{q} D_{-\frac{\omega}{q}, \frac{1}{q}} D_{\omega, q} y^{(1)}(\zeta, \lambda) - v(\zeta) y^{(1)}(\zeta, \lambda) \right] \theta_{m, \frac{1}{q^n}}^{(1)}(\zeta) d_{\omega, q} \zeta \\
&\quad + \int_d^{\frac{1}{q^n}} \left[\frac{1}{q} D_{-\frac{\omega}{q}, \frac{1}{q}} D_{\omega, q} y^{(2)}(\zeta, \lambda) - v(\zeta) y^{(2)}(\zeta, \lambda) \right] \theta_{m, \frac{1}{q^n}}^{(2)}(\zeta) d_{\omega, q} \zeta \\
&= \int_{\omega_0}^d \left[\frac{1}{q} D_{-\frac{\omega}{q}, \frac{1}{q}} D_{\omega, q} \varphi_{m, \frac{1}{q^n}}^{(1)}(\zeta) - v(\zeta) \theta_{m, \frac{1}{q^n}}^{(1)}(\zeta) \right] y^{(1)}(\zeta, \lambda) d_{\omega, q} \zeta \\
&\quad + \int_d^{\frac{1}{q^n}} \left[\frac{1}{q} D_{-\frac{\omega}{q}, \frac{1}{q}} D_{\omega, q} \varphi_{m, \frac{1}{q^n}}^{(2)}(\zeta) - v(\zeta) \theta_{m, \frac{1}{q^n}}^{(2)}(\zeta) \right] y^{(2)}(\zeta, \lambda) d_{\omega, q} \zeta \\
&= -\lambda_{m, \frac{1}{q^n}} \int_{\omega_0}^d y^{(1)}(\zeta, \lambda) \theta_{m, \frac{1}{q^n}}^{(1)}(\zeta) d_{\omega, q} \zeta - \lambda_{m, \frac{1}{q^n}} \int_d^{\frac{1}{q^n}} y^{(2)}(\zeta, \lambda) \theta_{m, \frac{1}{q^n}}^{(2)}(\zeta) d_{\omega, q} \zeta \\
&= -\lambda_{m, \frac{1}{q^n}} \phi_m(\lambda),
\end{aligned}$$

where $m \in \mathbb{N}$. Let

$$\begin{aligned}
y(\zeta, \lambda) &= \sum_{m=1}^{\infty} \phi_m(\lambda) \psi_{m, \frac{1}{q^n}}(\zeta), \\
a_m &= \int_{\omega_0}^d f(\zeta) \psi_{m, \frac{1}{q^n}}^{(1)}(\zeta) d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} f(\zeta) \psi_{m, \frac{1}{q^n}}^{(2)}(\zeta) d_{\omega, q} \zeta,
\end{aligned}$$

where $m \in \mathbb{N}$. Since $y(\zeta, \lambda)$ satisfies the equation

$$-\frac{1}{q}D_{-\frac{\omega}{q}, \frac{1}{q}}D_{\omega, q}y(\zeta, \lambda) + (v(\zeta) - \lambda)y(\zeta, \lambda) = f(\zeta),$$

we find

$$\begin{aligned} a_m &= \int_{\omega_0}^d \left[-\frac{1}{q}D_{-\frac{\omega}{q}, \frac{1}{q}}D_{\omega, q}y^{(1)}(\zeta, \lambda) + (v(\zeta) - \lambda)y^{(1)}(\zeta, \lambda) \right] \theta_{m, \frac{1}{q^n}}^{(1)}(\zeta) d_{\omega, q}\zeta \\ &\quad + \int_d^{\frac{1}{q^n}} \left[-\frac{1}{q}D_{-\frac{\omega}{q}, \frac{1}{q}}D_{\omega, q}y^{(2)}(\zeta, \lambda) + (v(\zeta) - \lambda)y^{(2)}(\zeta, \lambda) \right] \theta_{m, \frac{1}{q^n}}^{(2)}(\zeta) d_{\omega, q}\zeta \\ &= \lambda_{m, \frac{1}{q^n}}\phi_m(\lambda) - \lambda\phi_m(\lambda), \quad m, n \in \mathbb{N}, \frac{1}{q^n} > d. \end{aligned}$$

Thus, we get

$$\phi_m(\lambda) = \frac{a_m}{\lambda_{m, \frac{1}{q^n}} - \lambda} \quad (m, n \in \mathbb{N}, \frac{1}{q^n} > d),$$

and

$$y(\zeta, \lambda) = \langle G_{\frac{1}{q^n}}(\zeta, \cdot, \lambda), \overline{f(\cdot)} \rangle_n = \sum_{m=1}^{\infty} \frac{a_m \theta_{m, \frac{1}{q^n}}(\zeta)}{\lambda_{m, \frac{1}{q^n}} - \lambda}.$$

Hence

$$\begin{aligned} (R_{\frac{1}{q^n}}f)(\zeta, z) &= \sum_{m=1}^{\infty} \frac{\theta_{m, \frac{1}{q^n}}(\zeta)}{\alpha_{m, \frac{1}{q^n}}^2 (\lambda_{m, \frac{1}{q^n}} - z)} \langle f(\cdot), \theta_{m, \frac{1}{q^n}}(\cdot) \rangle_n \\ (3.13) \quad &= \int_{-\infty}^{\infty} \frac{\theta(\zeta, \lambda)}{\lambda - z} \left\{ \langle f(\cdot), \theta_{m, \frac{1}{q^n}}(\cdot) \rangle_n \right\} d\rho_{\frac{1}{q^n}}(\lambda). \end{aligned}$$

LEMMA 3.6. *For each nonreal z and fixed ζ , the following relation holds*

$$(3.14) \quad \int_{-\infty}^{\infty} \left| \frac{\theta(\zeta, \lambda)}{z - \lambda} \right|^2 d\rho_{\frac{1}{q^n}}(\lambda) < S.$$

PROOF. Writing

$$f(\zeta) = \frac{\theta_{m, \frac{1}{q^n}}(\zeta)}{\alpha_{m, \frac{1}{q^n}}}$$

yields

$$(3.15) \quad \frac{1}{\alpha_{m, \frac{1}{q^n}}} \langle G_{\frac{1}{q^n}}(\zeta, \cdot, \lambda), \theta_{m, \frac{1}{q^n}}(\cdot) \rangle_n = \frac{\theta_{m, \frac{1}{q^n}}(\zeta)}{\alpha_{m, \frac{1}{q^n}}(\lambda_{m, \frac{1}{q^n}} - z)},$$

due to the eigenfunctions $\theta_{m, \frac{1}{q^n}}(\zeta)$ are orthogonal. Combining (3.15) and (3.10), we see that

$$\begin{aligned} & \int_{\omega_0}^d \left| G_{\frac{1}{q^n}}(\zeta, s, z) \right|^2 d_{\omega, q} s + \int_d^{\frac{1}{q^n}} \left| G_{\frac{1}{q^n}}(\zeta, s, z) \right|^2 d_{\omega, q} s \\ &= \sum_{m=1}^{\infty} \frac{|\theta_{m, \frac{1}{q^n}}(\zeta)|^2}{\alpha_{m, \frac{1}{q^n}}^2 |\lambda_{m, \frac{1}{q^n}} - z|^2} = \int_{-\infty}^{\infty} \left| \frac{\theta(\zeta, \lambda)}{\lambda - z} \right|^2 d\rho_{\frac{1}{q^n}}(\lambda). \end{aligned}$$

By Lemma 3.1, the integral on the left converges and the result is immediate. \square

It follows from Lemma 8 that the set $\{\rho_{\frac{1}{q^n}}(\lambda)\}$ is bounded. Using Helly’s theorems ([15]), one can find a sequence $\{1/q^{n_k}\}$ such that $\rho_{\frac{1}{q^{n_k}}}(\lambda)$ converges to a monotone function $\rho(\lambda)$ (as $n_k \rightarrow \infty$).

LEMMA 3.7. *Let z be a nonreal number and ζ be a fixed number. Then we have*

$$(3.16) \quad \int_{-\infty}^{\infty} \left| \frac{\theta(\zeta, \lambda)}{z - \lambda} \right|^2 d\rho(\lambda) \leq S.$$

PROOF. For arbitrary $\eta > 0$, it follows from (3.14) that

$$\int_{-\eta}^{\eta} \left| \frac{\varphi(\zeta, \lambda)}{z - \lambda} \right|^2 d\rho_{\frac{1}{q^n}}(\lambda) < S.$$

Letting $\eta \rightarrow \infty$ and $n \rightarrow \infty$, we get the desired result. \square

LEMMA 3.8. For arbitrary $\eta > 0$, we have

$$\int_{-\infty}^{-\eta} \frac{d\rho(\lambda)}{|z - \lambda|^2} < \infty, \quad \int_{\eta}^{\infty} \frac{d\rho(\lambda)}{|z - \lambda|^2} < \infty.$$

PROOF. Let $\sin \beta \neq 0$. Writing $\zeta = 0$ in (3.16), we obtain

$$\int_{-\infty}^{\infty} \frac{d\rho(\lambda)}{|z - \lambda|^2} < \infty.$$

Let $\sin \beta = 0$. Then

$$\frac{1}{\alpha_{m, \frac{1}{q^n}}} \langle D_{q, \zeta} G_{\frac{1}{q^n}}(\zeta, \cdot, z), \theta_{m, \frac{1}{q^n}}(\cdot) \rangle_n = \frac{D_{q, \zeta} \theta_{m, \frac{1}{q^n}}(\zeta)}{\alpha_{m, \frac{1}{q^n}}(\lambda_{m, \frac{1}{q^n}} - z)}.$$

By (3.11), we find

$$\begin{aligned} \int_{\omega_0}^d \left| D_{q, \zeta} G_{\frac{1}{q^n}}(\zeta, \varsigma, z) \right|^2 d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} \left| D_{q, \zeta} G_{\frac{1}{q^n}}(\zeta, \varsigma, z) \right|^2 d_{\omega, q} \zeta \\ = \int_{-\infty}^{\infty} \left| \frac{D_{q, \zeta} \theta(\zeta, \lambda)}{z - \lambda} \right|^2 d\rho_{\frac{1}{q^n}}(\lambda). \quad \square \end{aligned}$$

LEMMA 3.9. Let

$$(Rf)(\zeta, z) = \int_{\omega_0}^{\infty} G(\zeta, \varsigma, z) f(\varsigma) d_{\omega, q} \varsigma,$$

where $f \in H$, and

$$G(\zeta, \varsigma, z) = \begin{cases} Z(\zeta, z) \theta(\varsigma, z), & \varsigma \leq \zeta, \zeta \neq d, \varsigma \neq d, \\ \theta(\zeta, z) Z(\varsigma, z), & \varsigma > \zeta, \zeta \neq d, \varsigma \neq d. \end{cases}$$

Then, we have

$$\begin{aligned} \int_{\omega_0}^d |(Rf)(\zeta, z)|^2 d_{\omega, q} \zeta + \int_d^{\infty} |(Rf)(\zeta, z)|^2 d_{\omega, q} \zeta \\ \leq \frac{1}{v^2} \int_{\omega_0}^d |f^{(1)}(\zeta)|^2 d_{\omega, q} \zeta + \int_d^{\infty} |f^{(2)}(\zeta)|^2 d_{\omega, q} \zeta, \end{aligned}$$

where $v = \text{Im } z$.

PROOF. Combining (3.13) and (3.10), for each $\frac{1}{q^n} > d$, $n \in \mathbb{N}$, we obtain

$$\begin{aligned} & \int_{\omega_0}^d \left| (R_{\frac{1}{q^n}} f)(\zeta, z) \right|^2 d_{\omega, q} \zeta + \int_d^{\frac{1}{q^n}} \left| (R_{\frac{1}{q^n}} f)(\zeta, z) \right|^2 d_{\omega, q} \zeta \\ &= \sum_{m=1}^{\infty} \frac{|\langle f(\cdot), \theta_{m, \frac{1}{q^n}}(\cdot, z) \rangle_n|^2}{\alpha_{m, \frac{1}{q^n}}^2 |\lambda_{m, \frac{1}{q^n}} - z|^2} \\ &= \frac{1}{v^2} \int_{\omega_0}^d \left| f^{(1)}(\zeta) \right|^2 d_{\omega, q} \zeta + \frac{1}{v^2} \int_d^{\frac{1}{q^n}} \left| f^{(2)}(\zeta) \right|^2 d_{\omega, q} \zeta. \end{aligned}$$

Letting $n \rightarrow \infty$, we get the desired result. □

THEOREM 3.10 (Integral Representation of the Resolvent). *For every non-real z and for each $f \in H$, we obtain*

$$(Rf)(\zeta, z) = \int_{-\infty}^{\infty} \frac{\theta(\zeta, \lambda)}{\lambda - z} F(\lambda) d\rho(\lambda),$$

where

$$F(\lambda) = \int_{\omega_0}^d f^{(1)}(\zeta) \theta^{(1)}(\zeta, \lambda) d_{\omega, q} \zeta + \lim_{\sigma \rightarrow \infty} \int_d^{\sigma} f^{(2)}(\zeta) \theta^{(2)}(\zeta, \lambda) d_{\omega, q} \zeta.$$

PROOF. Suppose that $f(\zeta) = f_{\sigma}(\zeta)$ satisfies (3.2)–(3.4) and vanishes outside the set $[\omega_0, d) \cup (d, \sigma]$, where $d < \sigma < \frac{1}{q^n}$, $n \in \mathbb{N}$. Let

$$F_{\sigma}(\lambda) = \int_{\omega_0}^d f_{\sigma}^{(1)}(\zeta) \theta^{(1)}(\zeta, \lambda) d_{\omega, q} \zeta + \int_d^{\sigma} f_{\sigma}^{(2)}(\zeta) \theta^{(2)}(\zeta, \lambda) d_{\omega, q} \zeta.$$

By (3.13), we see that

$$\begin{aligned} (R_{\frac{1}{q^n}} f_{\sigma})(\zeta, z) &= \int_{-\infty}^{\infty} \frac{\theta(\zeta, \lambda)}{\lambda - z} F_{\sigma}(\lambda) d\rho_{\frac{1}{q^n}}(\lambda) \\ &= \int_{-\infty}^{-a} \frac{\theta(\zeta, \lambda)}{\lambda - z} F_{\sigma}(\lambda) d\rho_{\frac{1}{q^n}}(\lambda) + \int_{-a}^a \frac{\theta(\zeta, \lambda)}{\lambda - z} F_{\sigma}(\lambda) d\rho_{\frac{1}{q^n}}(\lambda) \\ (3.17) \quad &+ \int_a^{\infty} \frac{\theta(\zeta, \lambda)}{\lambda - z} F_{\sigma}(\lambda) d\rho_{\frac{1}{q^n}}(\lambda) = I_1 + I_2 + I_3. \end{aligned}$$

Firstly, we will estimate I_1 . From (3.13), we deduce that

$$\begin{aligned}
I_1 &= \int_{-\infty}^{-a} \frac{\theta(\zeta, \lambda)}{z - \lambda} F_\sigma(\lambda) d\varrho_{\frac{1}{q^n}}(\lambda) \\
&= \sum_{\lambda_{k, \frac{1}{q^n}} < -a} \frac{\theta_{k, \frac{1}{q^n}}(\zeta)}{\alpha_{k, \frac{1}{q^n}}^2(z - \lambda_{k, \frac{1}{q^n}})} \left\{ \int_{\omega_0}^d f_\sigma^{(1)}(\zeta) \theta_{k, \frac{1}{q^n}}^{(1)}(\zeta) d\omega, q\zeta + \int_d^\sigma f_\sigma^{(2)}(\zeta) \theta_{k, \frac{1}{q^n}}^{(2)}(\zeta) d\omega, q\zeta \right\} \\
&\leq \left(\sum_{\lambda_{k, \frac{1}{q^n}} < -a} \frac{\theta_{k, \frac{1}{q^n}}^2(\zeta)}{\alpha_{k, \frac{1}{q^n}}^2 |z - \lambda_{k, \frac{1}{q^n}}|^2} \right)^{1/2} \\
&\quad \times \left(\sum_{\lambda_{k, \frac{1}{q^n}} < -a} \frac{1}{\alpha_{k, \frac{1}{q^n}}^2} \left| \int_{\omega_0}^d f_\sigma^{(1)}(\zeta) \theta_{k, \frac{1}{q^n}}^{(1)}(\zeta) d\omega, q\zeta + \int_d^\sigma f_\sigma^{(2)}(\zeta) \theta_{k, \frac{1}{q^n}}^{(2)}(\zeta) d\omega, q\zeta \right|^2 \right)^{1/2}.
\end{aligned}$$

Integrating twice by parts, we find

$$\begin{aligned}
&\int_{\omega_0}^d f_\sigma^{(1)}(\zeta) \theta_{k, \frac{1}{q^n}}^{(1)}(\zeta) d\omega, q\zeta + \int_d^\sigma f_\sigma^{(2)}(\zeta) \theta_{k, \frac{1}{q^n}}^{(2)}(\zeta) d\omega, q\zeta \\
&= -\frac{1}{\lambda_{k, \frac{1}{q^n}}} \int_{\omega_0}^d f_\sigma^{(1)}(\zeta) \left\{ \frac{1}{q} D_{-\frac{\omega}{q}, \frac{1}{q}} D_{\omega, q} \theta_{k, \frac{1}{q^n}}^{(1)}(\zeta) - v(\zeta) \theta_{k, \frac{1}{q^n}}^{(1)}(\zeta) \right\} d\omega, q\zeta \\
&\quad - \frac{1}{\lambda_{k, \frac{1}{q^n}}} \int_d^\sigma f_\sigma^{(2)}(\zeta) \left\{ \frac{1}{q} D_{-\frac{\omega}{q}, \frac{1}{q}} D_{\omega, q} \theta_{k, \frac{1}{q^n}}^{(2)}(\zeta) - v(\zeta) \theta_{k, \frac{1}{q^n}}^{(2)}(\zeta) \right\} d\omega, q\zeta \\
&= -\frac{1}{\lambda_{k, \frac{1}{q^n}}} \int_{\omega_0}^d \left\{ \frac{1}{q} D_{-\frac{\omega}{q}, \frac{1}{q}} D_{\omega, q} f_\sigma^{(1)}(\zeta) - v(\zeta) f_\sigma^{(1)}(\zeta) \right\} \theta_{k, \frac{1}{q^n}}^{(1)}(\zeta) d\omega, q\zeta \\
&\quad - \frac{1}{\lambda_{k, \frac{1}{q^n}}} \int_d^\sigma \left\{ \frac{1}{q} D_{-\frac{\omega}{q}, \frac{1}{q}} D_{\omega, q} f_\sigma^{(2)}(\zeta) - v(\zeta) f_\sigma^{(2)}(\zeta) \right\} \theta_{k, \frac{1}{q^n}}^{(2)}(\zeta) d\omega, q\zeta.
\end{aligned}$$

By Lemma 3.6, we get

$$\begin{aligned}
I_1 &\leq \frac{K^{1/2}}{a} \\
&\quad \times \left(\sum_{\lambda_{k, \frac{1}{q^n}} < -a} \frac{1}{\alpha_{k, \frac{1}{q^n}}^2} \left| \int_{\omega_0}^d \left\{ \frac{1}{q} D_{-\frac{\omega}{q}, \frac{1}{q}} D_{\omega, q} f_\sigma^{(1)}(\zeta) - v(\zeta) f_\sigma^{(1)}(\zeta) \right\} \theta_{k, \frac{1}{q^n}}^{(1)}(\zeta) d\omega, q\zeta \right. \right. \\
&\quad \left. \left. + \int_d^\sigma \left\{ \frac{1}{q} D_{-\frac{\omega}{q}, \frac{1}{q}} D_{\omega, q} f_\sigma^{(2)}(\zeta) - v(\zeta) f_\sigma^{(2)}(\zeta) \right\} \theta_{k, \frac{1}{q^n}}^{(2)}(\zeta) d\omega, q\zeta \right|^2 \right)^{1/2}.
\end{aligned}$$

Using Bessel inequality, we see that

$$I_1 \leq \frac{K^{1/2}}{a} \left[\int_{\omega_0}^{\sigma} \left| \frac{1}{q} D_{-\frac{\omega}{q}, \frac{1}{q}} D_{\omega, q} f_{\sigma}^{(1)}(\zeta) - v(\zeta) f_{\sigma}^{(1)}(\zeta) \right|^2 d_{\omega, q} \zeta + \int_d^{\sigma} \left| \frac{1}{q} D_{-\frac{\omega}{q}, \frac{1}{q}} D_{\omega, q} f_{\sigma}^{(2)}(\zeta) - v(\zeta) f_{\sigma}^{(2)}(\zeta) \right|^2 d_{\omega, q} \zeta \right]^{1/2} = \frac{C}{a}.$$

It is proved similarly that $I_3 \leq \frac{C}{a}$. Then I_1 and I_3 tend to zero as $a \rightarrow \infty$, uniformly in $\frac{1}{q^n}$. It follows from the Helly selection theorem and (3.17) that

$$(3.18) \quad (Rf_{\sigma})(\zeta, z) = \int_{-\infty}^{\infty} \frac{\theta(\zeta, \lambda)}{z - \lambda} F_{\sigma}(\lambda) d\rho(\lambda).$$

As is known, if $f(\cdot) \in H$, then we find a sequence $\{f_{\sigma}(\zeta)\}_{\sigma=1}^{\infty}$ that satisfies the previous conditions and tends to $f(\zeta)$ as $\sigma \rightarrow \infty$. From (3.10), the sequence of Fourier transform converges to the transform of $f(\zeta)$. Using Lemmas 3.7 and 3.9, we can pass to the limit $\sigma \rightarrow \infty$ in (3.18). Thus, we get the desired result. \square

REMARK 3.11. Using Theorem 3.10, we infer that

$$\int_{\omega_0}^{\infty} (Rf^{(1)})(\varsigma, z) g^{(1)}(\varsigma) d_{\omega, q} \varsigma + \int_d^{\infty} (Rf^{(2)})(\varsigma, z) g^{(2)}(\varsigma) d_{\omega, q} \varsigma = \int_{-\infty}^{\infty} \frac{F(\lambda) G(\lambda)}{z - \lambda} d\rho(\lambda),$$

where

$$F(\lambda) = \int_{\omega_0}^d f^{(1)}(\zeta) \theta^{(1)}(\zeta, \lambda) d_{\omega, q} \zeta + \lim_{\sigma \rightarrow \infty} \int_d^{\sigma} f^{(2)}(\zeta) \theta^{(2)}(\zeta, \lambda) d_{\omega, q} \zeta,$$

and

$$G(\lambda) = \int_{\omega_0}^d g^{(1)}(\zeta) \theta^{(1)}(\zeta, \lambda) d_{\omega, q} \zeta + \lim_{\sigma \rightarrow \infty} \int_{\omega_0}^{\sigma} g^{(2)}(\zeta) \theta^{(2)}(\zeta, \lambda) d_{\omega, q} \zeta.$$

Statements and Declarations. This work does not have any conflict of interested result.

Availability of data and materials. Data sharing not applicable to this article as no datasets were generated or analysed during the current study.

References

- [1] B.P. Allahverdiev and H. Tuna, *A representation of the resolvent operator of singular Hahn–Sturm–Liouville problem*, Numer. Funct. Anal. Optim. **41** (2020), no. 4, 413–431.
- [2] R.Kh. Amirov and A.S. Ozkan, *Discontinuous Sturm–Liouville problems with eigenvalue dependent boundary condition*, Math. Phys. Anal. Geom. **17** (2014), no. 3–4, 483–491.
- [3] M.H. Annaby, A.E. Hamza, and K.A. Aldwoah, *Hahn difference operator and associated Jackson–Nörlund integrals*, J. Optim. Theory Appl. **154** (2012), no. 1, 133–153.
- [4] M.H. Annaby, A.E. Hamza, and S.D. Makhraesh, *A Sturm–Liouville theory for Hahn difference operator*, in: M.Z. Nashed and X. Li (Eds.), *Frontiers in Orthogonal Polynomials and q -Series*, World Scientific, Singapore, 2018, pp. 35–83.
- [5] M.H. Annaby, Z.S. Mansour, and I.A. Soliman, *q -Titchmarsh–Weyl theory: series expansion*, Nagoya Math. J. **205** (2012), 67–118.
- [6] K. Aydemir, H. Olğar, and O.Sh. Mukhtarov, *The principal eigenvalue and the principal eigenfunction of a boundary-value-transmission problem*, Turk. J. Math. Comput. Sci. **11** (2019), no. 2, 97–100.
- [7] K. Aydemir, H. Olğar, O.Sh. Mukhtarov, and F. Muhtarov, *Differential operator equations with interface conditions in modified direct sum spaces*, Filomat **32** (2018), no. 3, 921–931.
- [8] F.A. Çetinkaya, *A discontinuous q -fractional boundary value problem with eigenparameter dependent boundary conditions*, Miskolc Math. Notes **20** (2019), no. 2, 795–806.
- [9] Y. Guldu, R.Kh. Amirov, and N. Topsakal, *On impulsive Sturm–Liouville operators with singularity and spectral parameter in boundary conditions*, Ukrainian Math. J. **64** (2013), no. 12, 1816–1838.
- [10] W. Hahn, *Beiträge zur Theorie der Heineschen Reihen. Die 24 Integrale der hypergeometrischen q -Differenzgleichung. Das q -Analogon der Laplace–Transformation*, Math. Nachr. **2** (1949), 340–379.
- [11] W. Hahn, *Ein Beitrag zur Theorie der Orthogonalpolynome*, Monatsh. Math. **95** (1983), no. 1, 19–24.
- [12] D. Karahan, *On a q -analogue of the Sturm–Liouville operator with discontinuity conditions*, Vestn. Samar. Gos. Tekhn. Univ., Ser. Fiz.-Mat. Nauki **26** (2022), no. 3, 407–418.
- [13] D. Karahan and Kh.R. Mamedov, *Sampling theory associated with q -Sturm–Liouville operator with discontinuity conditions*, J. Contemp. Appl. Math. **10** (2020), no. 2, 40–48.
- [14] D. Karahan and Kh.R. Mamedov, *On a q -boundary value problem with discontinuity conditions*, Vestn. Yuzhno-Ural. Gos. Un-ta. Ser. Matem. Mekh. Fiz. **13** (2021), no. 4, 5–12.
- [15] A.N. Kolmogorov and S.V. Fomin, *Introductory Real Analysis*, Dover Publications, New York, 1970.
- [16] B.M. Levitan and I.S. Sargsjan, *Sturm–Liouville and Dirac Operators*, Math. Appl. (Soviet Ser.), 59, Kluwer Academic Publishers Group, Dordrecht, 1991.
- [17] A.V. Likov and Yu.A. Mikhailov, *The Theory of Heat and Mass Transfer* (in Russian), Qosenergoizdat, 1963.
- [18] S. Mosazadeh, *Spectral properties and a Parseval’s equality in the singular case for q -Dirac problem*, Adv. Difference Equ. (2019), Paper No. 522, 14 pp. DOI: 10.1186/s13662-019-2464-y.
- [19] O. Mukhtarov, H. Olğar, and K. Aydemir, *Eigenvalue problems with interface conditions*, Konuralp J. Math. **8** (2020), no. 2, 284–286.
- [20] M.A. Naimark, *Linear Differential Operators*, 2nd ed., Izdat. Nauka, Moscow, 1969; English transl. of 1st. ed., 1,2, New York, 1968.

- [21] N. Palamut Kosar, *On a spectral theory of singular Hahn difference equation of a Sturm–Liouville type problem with transmission conditions*, Math. Methods Appl. Sci. **46** (2023), no. 9, 11099–11111.
- [22] E.C. Titchmarsh, *Eigenfunction Expansions Associated with Second-order Differential Equations, Part I*, Clarendon Press, Oxford, 1962.
- [23] Y.P. Wang and H. Koyunbakan, *On the Hochstadt–Lieberman theorem for discontinuous boundary-valued problems*, Acta Math. Sin. (Engl. Ser.) **30** (2014), no. 6, 985–992.
- [24] H. Weyl, *Über gewöhnliche Differentialgleichungen mit Singularitäten und die zugehörigen Entwicklungen willkürlicher Functionen*, Math. Ann. **68** (1910), no. 2, 220–269.

BILENDER P. ALLAHVERDIEV
DEPARTMENT OF MATHEMATICS
KHAZAR UNIVERSITY
AZ1096 BAKU
AZERBAIJAN
AND
RESEARCH CENTER OF ECONOPHYSICS
UNEC-AZERBAIJAN STATE UNIVERSITY OF ECONOMICS
BAKU
AZERBAIJAN
e-mail: bilenderpasaoglu@gmail.com

HÜSEYİN TUNA
DEPARTMENT OF MATHEMATICS
MEHMET AKIF ERSOY UNIVERSITY
15030 BURDUR
TURKEY
AND
RESEARCH CENTER OF ECONOPHYSICS
UNEC-AZERBAIJAN STATE UNIVERSITY OF ECONOMICS
BAKU
AZERBAIJAN
e-mail: hustuna@gmail.com

HAMLET A. ISAYEV
DEPARTMENT OF MATHEMATICS
KHAZAR UNIVERSITY
AZ1096 BAKU
AZERBAIJAN
e-mail: hamlet@khazar.org